DU BA Honours Humanities N Social Sciences

Topic:- HSS BA 52

1) Which type of volcanic eruptions has caused Deccan Trap formations?

fora yoor & sarcmdl RwIcl & orur 3awa Su dvaond g8 37
[Question ID = 5235]

1. Shield / oftes [Option ID = 20934]

2. Flood / anw [Option ID = 20935]

3. Composite / owifse [Option ID = 20936]

4, Caldera / @ae321 [Option ID = 20937]

Correct Answer :-
® Flood / @ [Option ID = 20935]

2) A deep valley characterised by steep step-like slopes is known as -

Feu-5iA cerrel arell Rdraanai arell a8 @iél ast awaa 8 -

[Question ID = 5236]
1. U-shaped valley / sz | U-aakar) @5t art

[Option ID = 20938]
2. Blind valley / aith ar

[Option ID = 20939]
3. Gorge / siat

[Option ID = 20940]
4, Canyon / @form

[Option ID = 20941]

Correct Answer ;-
e (Canyon / dfermr

[Option ID = 20941]

3) Insolation is defined as -

Tt (soAIdiore) @1 uf¥snita ffeen arm 2 -

[Question ID = 5237]

1. The incoming solar radiation / amat arem sz f@ffseo [Option 1D = 20942]

2. The outgoing solar radiation / afgsiaft it ffsaor [Option 1D = 20943

3. Total radiations absorbed by the earth / yedt gra1 amonfier quer ffdsao [Option ID = 20944]
4. Total radiations reflected by the earth / yedt grar uf¥afdrr quer f@afésaur [Option ID = 20945]

Correct Answer :-
® The incoming solar radiation / amet aren 2tz ffdsam [Option 1D = 20942]

4) The direction of wind around a low pressure in northern hemisphere is -

Fadl aitenel i forvor cara @ ol 37 sar &1 o 8 -
[Question ID = 5238]

1. Clockwise / wemmass [Option 1D = 20946]

2. Anti-clockwise / vdt-wemaassr [Option ID = 20947]

3. Perpendicular to isobars / sms2itarz @5 ciaaa [Option ID = 20948]
4, Parallel to isobars / amsaftarz o zamamaz [Option 1D = 20949]

Correct Answer :-
e Anti-clockwise / udl-wemasarsst [Option ID = 20947

5) ldentify the element which is not a part of the hydrological cycle

39 daea ®l usarol ISR s srEgidifGasa aay ast By oifl 8
[Question ID = 5239]

Evaporation / samidemr [Option ID = 20950]

Precipitation / tpiidifisrer [Option ID = 20951]

. Hydration / zs3wm [Option 1D = 20952]

Condensation / @3arfger [Option 1D = 20953]

B
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Correct Answer :-
e Hydration / as3wm [Option 1D = 20952]

6) GDP is the total value of produced during a particular year

SIS el fag ad @ Sivrer seanfea Wl Wel JeA &

[Question ID = 5240]

1. All goods and services / amift azqall aftz Franit [Option |D = 20954]

2. All final goods and services / zmaft svmues smamar afte Jranad [Option 1D = 20955]

3. All intermediate goods and services / wmft seerrd! smmer afie st [Option D = 20956]

4, All intermediate and final goods and services / ssft seewrdt afis Femur s sfis Fanai [Option ID = 20957]

Correct Answer :-
e All final goods and services / it smrn e A Aot [Option 1D = 20955]

7) ‘The Drain of Wealth' concept was given by -

‘301 3w deg’ &l yaemun [Kowd ot <f o1 ot -

[Question ID = 5241]

1. Dadabai Naoroji / aremard «itdsh [Option 1D = 20958]

2. J. C. Kumarappa / 5. 2it. qgemeomn [Option D = 20959]

3. Dr. Vikas Mishra / si. Brsra feg [Option 1D = 20960]

4. Mahadev Govind Ranade / #marca sitfds #ens [Option 1D = 20961]

Correct Answer :-
e Dadabai Naoroji / argmars @idstt [Option ID = 20958]

8) Cash Reserve Ratio (CRR) ensures that -

ol NRI3IA aequra () e o 8 o -

[Question ID = 5242]

1. All banks are ‘over borrowing’ / il & s 3urdl uz & [Option 1D = 20962]

2. No bank is ‘over lending’ / @ oft v aiftifyes assl aidl & 221 @ [Option ID = 20963]
3. No bank is ‘over borrowing’ / @1 oft a5 afefys ndt w @t & [Option ID = 20964]
4. All banks are ‘over lending’ / smft o ufefy s 32 & 32 & [Option ID = 20965]

Correct Answer :-
¢ No bank is ‘over lending’ / @13 aft da aftifyes ol @dt & sa & [Option 1D = 20963]

9) The RBI can influence money supply by changing the rate at which it gives loans to the commercial banks. This rate is
called the in India

HdlE 3| €3 @I decd? erel B gl o g o Ao 2 Bra uz g aiftifSas dof o o1 s 3 531 7 o s 3 @al Sl 2

[Question ID = 5243]

1. Repo rate / ¥t g7 [Option ID = 20966]

2. Bank rate / #w 57 [Option ID = 20967]

3. Reverse repo rate / fyef 3 3¢ [Option 1D = 20968]

4, Purchase agreement / zdle mssitd [Option ID = 20969]

Correct Answer :-
e Bank rate / & gz [Option ID = 20967]

10) All those receipts of the government which create liability or reduce financial assets are termed as:

Fyorr &t & ft 130S S S Ger vt E an Bl ufysuafel o on ol & 368 oa s &

[Question ID = 5244]

1. Revenue receipts / smtza gt [Option ID = 20970]

2. Revenue expenditure / srmza =r1 [Option ID = 20971]
3. Capital expenditure / gsfler =rr [Option ID = 20972]
4, Capital receipts / ysiert gifr [Option ID = 20973]

Correct Answer ;-
e Capital receipts / yatterr gifs [Option 1D = 20973]

11) The Golden triangle tour of India comprises the following destinations

HIzd &t Favl s @ # oefeRaa siaen onfdrer &

[Question ID = 5245]

1. Agra - Amritsar - Jaipur / e - amgee - senp [Option 1D = 20974]
2. Agra - Delhi - Jaipur / s - Beelt - segz [Option 1D = 20975]

3. Agra - Mount Abu - Delhi / amemr - sirde amg - et [Option 1D = 20976]
4, Agra - Amritsar - Delhi / 3mem - aErre - fBeclt [Option 1D = 20977]

Correct Answer :-
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e Agra - Delhi - Jaipur / s - et - seme [Option 1D = 20975]

12) Activities of a resident visitor outside the country of reference is termed as -

Hedftra Sor @ aig? Grardl & sifafaférn o) eafaBRaa d 3 vy wa 3# sen smar & -

[Question ID = 5246]

Domestic Tourism / a¥ewiea [Option 1D = 20978]
Inbound tourism / aideilsit wlear [Option D = 20979]
Outbound tourism / @@=t @1 weleat [Option 10 = 20980]
Local tourism / zemsiler wlear [Option 1D = 20981]

o kad P —

Correct Answer :-
& Qutbound tourism / ad=ifst @1 welewr [Option |D = 20980]

13) Valley of Flowers National Park is situated in -

weti bt @t sl ena e &

[Question ID = 5247]

1. Uttarakhand / srerzs 3 [Option ID = 20982]

2. Uttar Pradesh / 3w ygor 3 [Option ID = 20983]

3. Himachal Pradesh / fameer gaer 3 [Option 1D = 20984]
4. Sikkim / fafirsa 3 [Option ID = 20985]

Correct Answer :-
e Uttarakhand / smeras # [Option 1D = 20982]

14) lIsland Toursim Festival is held at ?

arscl s ¢Ria aRiE # amenfsra R smar 37
[Question ID = 5249]

Port Blair / u &z [Option 1D = 20990]

Colombo / @Yl [Option 1D = 20991]

Diu / &ta [Option ID = 20992]

Panaji / wwsit [Option ID = 20993]

P s

Correct Answer :-
e Port Blair / ¢ == [Option ID = 20990]

15) At the time of the Industrial Revolution, Britain’s main raw material was -

N3 @mifer & s, [{eor @1 Iz oo A o -
[Question ID = 5250]

1. lron / elar [Option 1D = 20994]

2. Coal / @en [Option |D = 20995]

3. Aluminium / segsfifsremss [Option ID = 20996]

4. Gold / siem [Option ID = 20997]

Correct Answer :-
o (Coal / @wrren [Option 1D = 20995]

16) “‘Which of the following Governor General was called ‘Liberator of Indian Press’?

forsaiferl3an 3t 21 e s1aelz Storza ®f Ml U @1 Afboran el SIrl en?

[Question ID = 5251]

Lord William Bentinck / #id faférem dféas [Option ID = 20998]
Sir Charles Metcalfe / i areaf #leesiws [Option 1D = 20999]
Lord Auckland / #iiZ affesdiz [Option 1D = 21000]

Lord Ellenborough / &if€ eceredl [Option 1D = 21001]

i bt ) =

Correct Answer :-
e Sir Charles Metcalfe / 31z aesf dreesns [Option |D = 20999]

17) Which of the following is not a correct statement with respect to Surendranath Banerjee?

Figoie dotell @ Fder 3 rafiiaa 3 21 ®iel 211 Berer 7t ol 87

[Question ID = 5252]
1. He was co-founder of Indian National Association / as e Swee vatfnem o Js-dremen & |

[Option ID = 21002]
2. He was founder of Ripon College in Kolkata / @& wlerern 3 Pusr aicis] @ Avems 4 |

[Option ID = 21003]
3. He is known to have evolved National Consciousness as a formal concept / as v sfiuanf¥as ararmaon o su 3 aedler dven feobin
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[Option ID = 21004]
4. He co-founded Sadharan Brahmo 5amaj with Anandmohan Bose / 3oglal aeicallasl @131 @ Fmel JeR g 0l @ Femas & |

[Option ID = 21005]

Correct Answer :-
e He co-founded Sadharan Brahmo Samaj with Anandmohan Bose / 3a&ial ansicailasl dla1 o amer naur gat emat b semgen o6 |
[Option ID = 21005]

18) With reference to Bahadur Shah Zafar, which among the following statement is not true?

aeIg? 91E s1b2 @ ZicH 3, FowaifeiRan 3t 3 ola w1 Bewr 7t odl 87

[Question ID = 5253]

1. He was an emperor without empire / ag seea o e v 39e €| [Option 1D = 21006]

2. He was a warrior without any war experience / a& [ian [B53fl e o5 argpara o @gr 4| [Option ID = 21007]
3. Hasan Askari was his spiritual guide / &3t arresdl 3aidd aneenfesres slcsies &| [Option ID = 21008]

4. He succeeded to the throne in 1845 A.D. / ag 1845 4. ¥ Bisrwm uz amelier gz| [Option 1D = 21009]

Correct Answer :-
® He succeeded to the throne in 1845 A.D. / ag 1845 3. # Bieremr w anzltar gz| [Option 1D = 21009]

19) Who among the following is not a Social Entrepreneur Awardee?

forraifeil3aa 3 31 ®ia v AR Jepiar yreor e okl 87
[Question ID = 5255]

1. Urvashi Sahni / adslt snsstt [Option 1D = 21014]

2. Prema Gopalan / g sitarerar [Option 1D = 21015]

3. Ela Bhatt / zem mz [Option ID = 21016]

4, Maneka Gandhi / st ariefl [Option ID = 21017]

Correct Answer :-
e Maneka Gandhi / Jwrenr aiiell [Option ID = 21017)

20) Dr. APJ Abdul Kalam IGNITE Awards are given to original technological ideas and innovations by -

31. vl areger o IGNITE gzeprr 3 aamseild! et sz samart ofee eamr &ar s & -

[Question ID = 5256]
1. Children up to class 12 or those out of school up to the age of 17 years / 12 df wsn v o fenefl @n 17 2mer ep &1 39 & Fpa o smerned acat ar| [Option

ID = 21018]
2. Undergraduate students of science stream only / aaer fsmar asf @ o sifisl [Option ID = 21019]
Graduate students of Arts and Social Science streams only / @ae esen iz menfEEs Rsne & sanas @) &1 [Option ID = 21020]

4. Engineering students of ITs. / ad.and & & ssliféri¥sr @) @t| [Option ID = 21021]

Lot

Correct Answer :-

® Children up to class 12 or those out of school up to the age of 17 years / 12 df @sgn e & Eenefl @ 17 2wt s &) 39) & Fpar o sieare) acdl @1| [Option
ID = 21018]

21) Which of the following statement is true about the entrepreneurial climate?

Fepftiar araraeor @ | i GreifeiBaa 3 3 ©ier 311 oo I8 87

[Question ID = 5257]

1. Trial and error are discouraged / udlawr iz gfé ot sdteenféa fen smen & [Option 1D = 21022]

2. Resources of the firm need to be available and easily accessible / wal a¥ siameii &t sueteeen va amene gprern [Option 1D = 21023]
3. A multi-disciplinary approach is discouraged / ves ag-faueres efteeivr @) adicantéa [@sen sien & [Option 1D = 21024]

4. Failure is not allowed / araweran &1 s oidf 8 [Option ID = 21025]

Correct Answer :-
® Resources of the firm need to be available and easily accessible / waf & simnemil &1 Jucreaan va s Fewern [Option 1D = 21023]

22) Which of the following best represents the practice of starting new organizations or in response to identified
opportunities?

foraaiferRaa & 31 @wia1 211 [Aaseu oo Feradll @ 3 JieEn usdlal 3¢ raRl @ yfefisn o gfifofira o 87

[Question ID = 5258]

1. Partnership Marketing / smsSierdt ffausr [Option ID = 21026]
2. Research Management / sopiemet gaerat [Option 1D = 21027]
3. Entrepreneurship / 3efém [Option ID = 21028]

4, R& D / smpira va frana [Option ID = 21029]

Correct Answer :-
e Entrepreneurship / 3efémr [Option 1D = 21028]

ation, to
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23) A Social Intervention project was aimed to train young volunteers to work with the country’s elderl
document their stories and to develop recreational activities etc. This is an example of




U LG s3181d UlRilsol ®f Jal FariRiadm] @ &9l & gl A @ 1 DE ol Uad Jolbl Balforll Bl GIldsiiov] bl i
Follesras sifefafern o RreoBra oo anfS o sgea A gfdfdra [Reem srn a6 @1 van Je18301 &

[Question ID = 5259]

1. A social action for holistic intervention / 2mF] gFgn @ P wp swnisee odar [Option 1D = 21030]

2. Social inclusion and mental health / sEnfeas smer sfe Aamine smeea [Option 1D = 21031]

3. A social innovation on loneliness intervention / sidauer @ #veiu w2 v JEfsre arararz [Option ID = 21032]

4, Public responsibility for old age people / gzl @ few sndaferr et [Option ID = 21033]

Correct Answer ;-
e A social action for holistic intervention / 2w s3vdn @ e v amtsis wdag [Option ID = 21030]

24) Which of the following is not a greenhouse gas?

forraferBaa & A oiar 201 oflarersa 3ia a1l 87
[Question ID = 5260]

1. Methane / #ftém [Option ID = 21034]

2. Carbon dioxide / e sEafiaznss [Option 1D = 21035]
3. NMitrous oxide / amsc sfiazmss [Option ID = 21036]

4, Hydrogen / ams=w [Option 1D = 21037]

Correct Answer ;-
® Nitrous oxide / amscar sifaenss [Option ID = 21036]

25) The coal that still contains recognizable content of plant material is -

as wrren i anfl off usarer Aea i AEE]l & 3 @Ea § -
[Question ID = 5261]

1. Peat / die [Option ID = 21038]

2. Bitumen / smwee [Option ID = 21039]

3. Lignite / Fwamze [Option ID = 21040]

4, Coke / @i [Option ID = 21041]

Correct Answer ;-
e Peat / die [Option ID = 21038]

26) Tetraethyl lead is used as a:

equfdrar o @ Jueier e # A v 7a # e oo 3
[Question ID = 5262]

1. Petrol additive / ucter uizfeéa [Option 1D = 21042]

2. Mosquito repellant / ez swmat aren [Option ID = 21043]

3. Fire extinguisher / afsoremies [Option ID = 21044]

4. Pain killer / &g formes [Option 1D = 21045]

Correct Answer :-
e Petrol additive / igter ef$fea [Option 1D = 21042]

27) Which of the following two metals are used in making transistors?

cifsrees dotiel 3 forgotfer3aa 3 21 ot €1 e il @1 3u=le1 fs=n simar 87
[Question ID = 5263]

1. Silicon and germanium / Bifersian afiz sEiferm [Option 1D = 21046]

2. Iridium and tungsten / sf¥fZ=m afiz €asem [Option 1D = 21047]

3. Silicon and tungsten / Biferbial oz doreea [Option D = 21048]

4. Columbium and silicon / @eifdem sz Biferris [Option ID = 21049]

Correct Answer :-
@ Silicon and germanium / Riffriar sftr SEifermr [Option 1D = 21046]

28) Fresh fruit juices of Litchi, Grapes, etc. when stored at low temperatures give the drink a cloudy appearance. The

most plausible reason for this is:

@H aaATel U2 s glol uz elidl, siapz anfe & e ¥ eigren s S & sl waA Aecagul @R 3

[Question ID = 5264]
1. Cellulose and hemi-cellulose gets dissolved due to enzymatic action during the extraction forming colloidal solution. / vansdifew amviidl TCieEsa

UIACa9El B Giel Aceeitat 3 2ait-Acgeirar getape 2 smy &| [Option ID = 21050]
2. Sugars present in fruits form colloidal solution at low temperatures / wel 3 #itge ol o musmsr g2 olenssa ale ganrdt & [Option 1D = 21051]
At low temperature, pectins form colloidal particles which do not settle / asa amsmer w, Ofdca ornssea oo gond & 5 e o &6 & [Option 1D = 21052]

4, At low temperatures inactivated enzymes give cloudy appearance to the solution. / as el u2 faftagr genss arge Siam amsmer &0 & [Option 1D =
21053]

Lt

Correct Answer :-
e At low temperature, pectins form colloidal particles which do not settle / & A o3, Ofdes solengzer avon aoie & i ez ol
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29) Both the venomous coral snake and the nonvenomous scarlet king snake have red, yellow, and black banding on their
bodies. Which of the following process best identifies the scarlet king's snake survival strategy?

fartien wia #iu 3z [Rudlar Fovrcle [eer #Aiu, el @ 9z Uz ora, i iz @i 91 & iyt it 2 orafcRaa # 31 wia 20t giien sonae
fépar a1t bt Shiast et o Fa It as A afdewa ol 7

[Question ID = 5265]

1. Camouflage / senaau [Option ID = 21054]

2. Imprinting / s [Option ID = 21055]

3. Mimicry / amgeezu [Option 1D = 21056]

4. Kin selection / Fss Biderars [Option ID = 21057]

Correct Answer :-
e Mimicry / agfessur [Option ID = 21056]

30) The United Nations Framework Convention on Climate Change (UNFCCC or FCCC) is also known as:

sterary uf¥aciel uz A weg, Baad HAdectsl (UNFCCC @n FCCC) sordt A fepat @ wu 3 ol siren siren 3:

[Question ID = 5266]
1. Kyoto protocol / w=iet gicksier

[Option ID = 21058]
2. Vienna convention / Ermen IwEe

[Option ID = 21059]
3. Earth summit / R o swdco

[Option ID = 21060]
4. None of these / ol 31 o off ot

[Option ID = 21061]

Correct Answer :-
® Earth summit / Feg B sedemo
[Option ID = 21060]

31) Which of these is NOT an expected effect of climate change?

goldl 31 Wial AT sicrary ufader o1 anfda guma «dt 87
[Question ID = 5267]

1. Sea levels rising / st a1 2 @1 agon [Option ID = 21062]

2. Flooding in coastal cities / adier wigdl # are [Option ID = 21063]
3. Expanding glaciers / saigri a1 faearz [Option ID = 21064]

4. Extreme weather / wel altam [Option 1D = 21065]

Correct Answer :-

e Expanding glaciers / scifdrt @ B [Option 1D = 21064]

32) A forest fire resulted in large amount of smoke. People in the nearby areas started getting headaches, dizziness and
vomiting. Some found it difficult to breathe and fell unconscious. The reaction which caused the above difficulty is
because of the inhalation of ;

sieret @bl 3reT @ wiRuT a3t ANl A &30 raven 5121 @31 31-urA @ sarpl @ sl @ Bred, aams iz Iediki dlal aeil | @y o 131 ol 3
®fdond &4 3z A A8l1 & are AN &% Ul wfdand w1 ®RY ___dAafada A 3

[Question ID = 5268]

CO [Option ID = 21066]

CO; [Option ID = 21067]

NH3 [Option ID = 21068]

. SO, [Option ID = 21069]

bt B —

Correct Answer :-
& CO [Option ID = 21066]

33) Which of the following does not describe the cultivation of plants without soil?

foraaiférfiaa af 21 wiar Bl & fAen diel &1 w0t o1 avier ardl aan 87
[Question ID = 5269]

1. Aeroponics / v3mifarrat [Option ID = 21070]

2. Hydroponics / dsmfsmaa [Option 1D = 21071]

3. Fogponics / wemiferrs [Option ID = 21072]

4, Geoponics / faiafsias [Option ID = 21073]

Correct Answer :-
e Geoponics / faiafsias [Option ID = 21073]
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34) Which of the following organism is linked to moon pollution?

forsarferfiara 3 21 wior 311 Sila <igan @ Yeuvr @ a3 &7
[Question ID = 5270]

1
2
3.
4

. A. Tardigrades / emdissar [Option 1D = 21074]
. B. Water Tears / umft @ 3y [Option ID = 21075]

C. Both A and B / A 3iiz B 2=l [Option ID = 21076]

. D. Neither A nor B / A 3fiz B Si=if =t [Option 1D = 21077]

Correct Answer :-
e A, Tardigrades / erzdlsisa [Option ID = 21074]

35) Which Space agency has discovered the 'First nearby Super-Earth'?

R siafyer wsizll o 'gera orsrdldst Fuz-srel’ @t s &t 87

[Question ID = 5271]

1. The National Aeronautics and Space Administration (NASA) / amwrer udsiitetrs vs 20w ushiforcomt (NASA) [Option ID = 21078]
2. Indian Space Research Organisation (ISRO) / smdi=r siaf¥st ampzizmet ssoa (ISRO) [Option ID = 21079]

3. The European Space Agency (ESA) / zRidier syt woisht ($9em) [Option ID = 21080]

4. Chinese Mational Space Agency (CNSA) / dieft amdter sreri¥er wsisht (CNSA) [Option 1D = 21081]

Correct Answer :-

e The National Aeronautics and Space Administration (NASA) / aiserer walsiifeast vs 3 vsfiforcom (NASA) [Option ID = 21078]

36) Scientists have developed a new battery material based in

batteries

d=nfornl of fe1lrmE srIer dcdt &t qoron 31 5 apon =1 s1fer @ wa1er arst 81 AA@wol anfer

[Question ID = 5272]

1
2
3.
4. Chromium / @mifdem [Option ID = 21085]

Graphene / abtar [Option 1D = 21082]
Carbon / wrdar [Option 1D = 21083]
Nitrate / aiste [Option 1D = 21084]

Correct Answer :-
o Graphene / snfla [Option 1D = 21082]

with charging speed 5 times faster than lithium-ion

uz menfia v off dcdl Ape] ola & 8

37) Name the Indian Nuclear Capable Land Attack Cruise Missile that was successfully tested with a strike range of 1000
km?

HIFcilr azanYg g A Aop & Hfd o AR a3 FJwol arell 1000 &1 3t o1 B a3 sihensa Bt awaagdas udigon [@sm sen an, @1 ona

L= Oy 1 L4

[Question ID = 5273]

1. Agni / afda [Option 1D = 21086]

2. Nag / s [Option ID = 21087]
3. Nirbhay / fesfer [Option ID = 21088]
4. Babur / araz [Option ID = 21089]

T

Correct Answer :-
® Nirbhay / fomfe [Option |ID = 21088]

38) Which of the following animal is believed to be the reservoir of some of the deadly viruses such as Ebola and Corona

virus?

forgarferf3aa 3 3 vy Sieras @t sdlen 3112 WRIeN arRIRA SiA HIad dRIZH 1 WSI? Hioll Sirer 37

[

Question ID = 5274]
Bat / acen [Option ID = 21090]

2. Butterfly / et [Option ID = 21091]
3. Eagle / dsmer [Option ID = 21092]
4, Snake / 3ifu [Option ID = 21093]

Correct Answer :-
e Bat / acen [Option 1D = 21090]

39) Which is the world's first successful electronic computer?

gform @1 usenn Awel saacifora WRIET @iol AT &7
[Question ID = 5275]

1
2
3.
4

. PARAM [Option ID = 21094]
. CRAY-1 [Option ID = 21095]

Pascaline / urrmensar [Option 1D = 21096]
. ENIAC (Electronic Numerical Integrator and Computer) / ENIAC sdaciforn ae@ifymer séiaee siie wwez [Option 1D = 21097]
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Correct Answer :-
e ENIAC (Electronic Numerical Integrator and Computer) / ENIAC scacifern ae@itymer séi8jee s awgez [Option 1D = 21097]

40) Who among the following used the term computer worm for the first time?

foraifeifiaa & 21 Roarel uscll an wwies it gree @1 s3I oen?
[Question ID = 5276]

1. John Brunner / Gifet gz [Option ID = 21098]

2. Alan Turing / wet gidst [Option 1D = 21099]

3. John McCarthy / sifa fesrelf [Option ID = 21100]

4. JP Eckert / Suft vasd [Option ID = 21101]

Correct Answer :-
e John Brunner / Sifar gaiz [Option 1D = 21098]

41) 1024 bits will be how many bytes?

1024 fae Roaol s sier?
[Question ID = 5277]

1. 128 [Option ID = 21102

2. 56 [Option ID = 21103

3. 32 [Option ID = 21104]

4. 16 [Option ID = 21105]

Correct Answer :-
e 128 [Option ID = 21102]

42) Which of the following is not a primary data storage device?

forsaferiiaa 3 3t @ofa v grafias  s1er sisrvr suasur &8t &7

[Question ID = 5278]
1. Magnetic Tape / gadhia 2a

[Option ID = 21106]
2. Magnetic Disk / gradsir Bep

[Option ID = 21107]
3. Optical Disk / siiftetser B

[Option ID = 21108]
4, All of these / sl Freoeu

[Option ID = 21109]
Correct Answer :-
o All of these / =l [@aseu

[Option ID = 21109]

43) A ‘database environment’ includes .

U ScTa ardravl 3 onfdret aiar &

[Question ID = 5279]
1. Hardware and Software only / &g afiz diveders

[Option ID = 21110]
2. People and the procedures only / et iz yfdem?

[Option ID = 21111]
3. Data only / d@ac 2er

[Option ID = 21112]
4, All of these / xsit Rraseu

[Option ID = 21113]
Correct Answer :-
& All of these / wft Risea
[Option ID = 21113]

44) Which of the following is not an element of Buddhism?

forratfeilBaa o A oia dig a9l @1 aca a8l 87
[Question ID = 5280]
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Buddha, the religion’s founder is a god / qg, el & szenues ves serarsl & [Option ID = 21114]

The four nobel truths are essential to understand religion / i & 3wEE & féne are 9ps scy anageres & [Option ID = 21115]
It embraces the concepts of Karma and reincarnation / 2z @t aflz gotslow ot amemonait uz feearsr £ [Option ID = 21116]

It encourages people to avoid self-indulgence / =z &l @1 socar-alsr 3 aaol @ few gieenfaa @ear & [Option ID = 21117]

P s

Correct Answer :-
® Buddha, the religion’s founder is a god / @z, el @ zenud vw sera & [Option 1D = 21114]

45) The Gift of India is a poem which embodies the spirit of patriotism for the motherland. It was written by -

“frre 3ifw " vw ofdar 2 ot gy @ e oo & smaon @1 gt 2 a6 @ Rl us et o8 & |

[Question ID = 5281]

1. Sarojini Naidu / s3ffel sierg, [Option 1D = 21118]

2. Swami Yogananda Paramhansa / waril @emsic ussgs [Option 1D = 21119]
3. Rabindranath Tagore / aféigoner &airz [Option ID = 21120]

4. Swami Vivekananda / vl Fdsmis [Option ID = 21121]

Correct Answer :-
® Sarojini Maidu / s2ifei amerg, [Option 1D = 21118]

46) Consider the following statements of Ghoomar dance.
i. It is a traditional folk dance developed by the Bhil tribe of Rajasthan

ii. It is performed to worship Goddess Saraswati

g2 ofca @ ded d forotferi3aa weell uz far o3
i. uE Aererel @ sl sorenfa g Rela ve ukul¥s die goa 2
ii. @18 adl wezadl &) gsn ool & e fsan swar 2|

[Question ID = 5282]
1. Only (i) is true / @ae (i) @wa &

[Option ID = 21122]
2. Only (ii) is true / @ (i) w2 8

[Option ID = 21123]
3. Both are true / oiail s &

[Option ID = 21124]
4. Neither (i) nor (ii) is true / s (i) sz & & (i) 3= &

[Option ID = 21125]

Correct Answer :-
® Both are true / e @ &

[Option ID = 21124]

47) Which of the following is not a stringed musical instrument?

forgaiferi3an 31 21 wlol 1 U AR drcll el A oldl &7

[Question ID = 5283]

1. Santoor / gz [Option ID = 21126]

2. Violin / arepférar [Option 1D = 21127]
3. Cymbal / sirs1 [Option ID = 21128]

4. Banjolin / &0t [Option 1D = 21129]

Correct Answer :-
® Cymbal / == [Option ID = 21128]

48) Which of the following statement is false regarding Pattachitra?

uziferg & weer 3 BreifeRaa 3 2 oier 31 o526 srere 87

[Question ID = 5284]

1. It is a traditional painting of Odisha / @& aif$on @t v uPuf¥ew tfésr & [Option ID = 21130]

2. The theme of this painting centres around the Jagannath and Vaishnava sect. / s ticar a1 fuer stoone iz dwra 2iygrer & [Option ID = 21131]
3. Traditionally it was done by the female members of the household / wiuwer su 3w az & afden gl g gons swdt eff [Option ID = 21132]

4, Painters use natural colours only / Rtz yrapfirs aif o1 &1 3usiter avs & [Option ID = 21133]

Correct Answer :-
e Traditionally it was done by the female members of the household / wuzer =a 3 =g gz & #fden o=l g gonz suedl et [Option 1D = 21132]

49) Which of the following temple is wrongly matched with the state?
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forgarferfiaa 3 21 wior 71 AfdT o1 15 @ Frer o1erd adlad A Rrarn srn 87

[Question ID = 5285]

1. Mansa Devi Temple - Uttarakhand / aweten &t #ifes - sreras [Option ID = 21134]

2. Chamunda Devi Temple - Himachal Pradesh / amwjst &dl sifés - o gaor [Option ID = 21135]

3. Amba Mata Temple - Gujarat / aran anm siféz - spr [Option 1D = 21136]
4. Maa Jwala Ji Temple - Haryana / #f saren it #ifes - af¥non [Option ID = 21137]

Correct Answer ;-
e Maa Jwala Ji Temple - Haryana / #f saren Sit #ifés - af¥=mon [Option ID = 21137]

50) This town is a designated World heritage Site and it hosts the tomb of Salim Chisti. It is -

a5 9162 U foifdee fara ferTa raa & aiiz s21 96 # wchia Riedl o1 awaw &
[Question ID = 5286]

1. Ajmer / sz [Option ID = 21138]

2. Fatepur Sikri / woisgz sfiasdt [Option 1D = 21139]

3. Agra / amera [Option ID = 21140]

4. Lucknow / erEwrs [Option 1D = 21141]

Correct Answer :-
e Fatepur Sikri / wilayz 33t [Option ID = 21139]

51) Find the odd one out

feras @1 a=ra @i

[Question ID = 5287]

1. Hazrat Nizamuddin Auliya / &sra Bremsels sfifern [Option ID = 21142]
2. Guru Nanak / af& aneres [Option ID = 21143]

3. Raja Ram Mohan Roy / wmsn 3w aitzat 7=1 [Option ID = 21144]

4. Meera Bai / #th arg [Option ID = 21145]

Correct Answer :-
® Haja Ram Mohan Roy / amsm 2w aitgst 7w [Option D = 21144]

52) The first Indian to win an Academy Award is -

PTGl YRR Sitdel arct uscl Ml E -
[Question ID = 5288]

1. A. R. Rahman / v iz z&ma [Option 1D = 21146]
2. Satyajit Ray / sewsita 3 [Option 1D = 21147]

3. Bhanu Athaiya / sme] aflen [Option |D = 21148]
4. Rasul Pookutty / 1 gazzt [Option ID = 21149]

Correct Answer :-
e Bhanu Athaiya / smg] aiflen [Option |D = 21148]

53) Which of the following is not a literary award?

foraiferi3aa 3 21 ®lar 71 idfea® geeor ol 87

[Question ID = 5289]

Jnanpith Award / smenlfic ysanz [Option 1D = 21150]

Ananda Puraskar / ameic gz [Option ID = 21151]

Sahitya Akademi / snfacer arepreaft [Option ID = 21152]

Shanti Swarup Bhatnagar Award / gnfét sa=u sieeter gesasiz [Option ID = 21153]

T

Correct Answer :-
® Shanti Swarup Bhatnagar Award / onfft za=u sreaiiz gzzarz [Option 1D = 21153]

54) Which committee recommended the inclusion of the Fundamental duties in the Indian constitution?

forer afaifer o1 sneeller Fiferems 3 Fifers @l o1 onfira w1 &6t Breifyer 617

[Question ID = 5290]

1. Puncchi committee / et ufafs [Option ID = 21154]

2. Swaran Singh committee / savi Bis afdfer [Option ID = 21155]
3. Lodha Committee / eiet 2ifdter [Option ID = 21156]

4. Mandal Committee / ai=e aifdfer [Option ID = 21157]

Correct Answer :-
e Swaran Singh committee / ¥avf [3ig w1fafer [Option 1D = 21155]

55) Article 15 of the Indian Constitution ensures -

wracila sfaenet @ stepede 15 HFhorfia oz 2 -
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[Question ID = 5291]
1. Social equality and equal access to public areas / swnf3rr FmErn sie aAwdsfors Sl & dwidt me uga [Option 1D = 21158]

2. Right to education / fgign a1 aférsrz [Option ID = 21159]
3. Freedom of speech and expression / faam sz afircefés &1 sacaen [Option ID = 21160]
4, Right to justice / semer ao aférorz [Option ID = 21161]

Correct Answer :-
e Social equality and equal access to public areas / smnfaes sEneian afiz sndaifoes &iql 3 eeiidhl swmel uga [Option ID = 21158)

56) If a state government passes a resolution in the assembly without consulting the Governor, the Governor can -

Afe @1F Asa FwoRr Remeray A Tsaare & Joe @ @on o geaa af¥a oxd 2, a1 asaare -

[Question ID = 5292]
1. Dissolve the government / R mt #i#1 w3 JawT &

[Option ID = 21162]
2. Recommend the centre to impose the President’s rule in the state / e 1 amcufer onee cenma o fém dig 31 Rk @53 aeea |

[Option ID = 21163]
3. Reject the resolution / yzma o arsdioe o s &

[Option ID = 21164)
4, None of these / ol 31 o ol ol

[Option ID = 21165]

Correct Answer :-
o None of these / saidi 31 s st oidf

[Option ID = 21165]

57) The Right to Know in India is-

I 31 Slietel @I MBI & _

[Question ID = 5294]

. Unlimited / arfifirr [Option ID = 21170]
Unparalleled / afgetter [Option 1D = 21171]
Absolute / asitfén [Option 1D = 21172]

. Limited / sfifirr [Option ID = 21173]

B b P =

Correct Answer :-
e |imited / 3tk [Option ID = 21173]

58) Mass communication gets filtered by

I HAZ DY <1 fiseez foven siem 2
[Question ID = 5295]

1. Audience / sotow [Option ID = 21174]

2. Media / #ftf3en [Option ID = 21175]

3. Gatekeepers / adicdbiuz [Option ID = 21176]
4, Encoders / warpiss [Option ID = 21177]

Correct Answer :-
e Gatekeepers / dwedbiuz [Option ID = 21176]

59) Which of the following is not a newspaper/magazine?

Graaifer¥ae 3 A @ier 31 FATaR ud/ufioT oiél 87
[Question ID = 5296]

1. Guardian / snf¥em [Option ID = 21178]

2. Washington Post / arféerea dise [Option ID = 21179]
3. Backstage / @maes [Option ID = 21180]

4. The economist / &} swlsiifize [Option 1D = 21181]

Correct Answer :-
e Backstage / §waes [Option ID = 21180]

60) The latest Indian journalist who was awarded the Ramon Magsaysay award is

Il HAoAA IR A HaAfora onfdoras sl ugwnr &
[Question ID = 5297]

Kuldeep Nayyar / @eeiu sieerz [Option ID = 21182]

Ravish Kumar / Jdtor gz [Option 1D = 21183]

Raj Kamal Jha / 21 waier = [Option ID = 21184]

. Sudhir Chaudhary / apfts «fedt [Option ID = 21185]

A ad B —
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Correct Answer :-
® Ravish Kumar / adisr gz [Option ID = 21183]

61) A person who does not post messages but reads what others write on an online discussion board is identified as

v e Sit Acor a8l s afdver stow sifolenzor aal 4@ u? @R a0 w2l @ ugar &, ¥ &ifts @ avar sier &

[Question ID = 5298]

Lurker / @5z [Option ID = 21186]

Silent participant / W@ giemmsft [Option ID = 21187]
Jabber / sz [Option 1D = 21188]

Sleeper-chatter / seiiuz-des [Option 1D = 21189]

o lad R =

Correct Answer ;-
® Lurker / gra@s [Option ID = 21186]

62) Direct mail advertising is often referred to as

geasl del [RAsmact @1 sfada @sl S &

[Question ID = 5299]

Personal selling / =ifemsma 3iftetst [Option 1D = 21190]
Mail order / J&1 angz [Option 1D = 21191]

Junk mail / s e [Option 1D = 21192]

Postal advertising / sro frsmaer [Option 1D = 21193]

oW =

Correct Answer :-

o Junk mail / o @@ [Option 1D = 21192]

63) The present ages of Suraj, Nikhil & Aditya are in the proportion of 4: 7: 9. If the sum of their ages was 56, eight years
ago, find their present ages

31, forl¥ae it anfeea &I adame sy 4: 7: 9 @ sgqura 3 2 Al 300 2ATa usd Jorch! 33 BT et AP 56 o1, Al Jord aridliel AR S B

[Question ID = 5300]

12, 24, 32 [Option ID = 21194]
16, 28, 36 [Option ID = 21195]
08, 20, 28 [Option ID = 21196]
14, 22, 30 [Option ID = 21197]

B P

Correct Answer :-
e 16, 28, 36 [Option ID = 21195]

64) A bike covers its journey at the speed of 80km/hr in 10hours. If the same distance is to be covered in 4 hours, how
much increase of speed is required for the bike?

uas @z 10hours 3 80 Rsalt/der bl a1fer 21 aruell 2y gdl wall & afe Famer ¢t @1 4 @ A aa wIon 81, al snSl &1 arfer @t Rveon iz
AaGIoll ATARED &7

[Question ID = 5301]

90km/hr / 90km/«er [Option ID = 21198]

100km/hr / 100 Rt/ ger [Option ID = 21199]

80km/hr / 80 it/ =er [Option 1D = 21200]

120km/hr / 120 Feslt/ger [Option 1D = 21201]

b R —

Correct Answer :-
e 120km/hr / 120 Emsft/ e [Option ID = 21201]

65) In an assembly line, Raju is 7th from the left and Sujoy is 9th from the right. Both of them interchange their positions
and thus Raju becomes 11th from the left. How many students are there in the assembly line?

ves iactl enset 3, wsL A R A 7 & aie it e o A 9 § yene uz & Sloll of aruehl Rafer @ aca R sii sa s g A 11 4
Fellol U2 31 RN 3Ridci oirsel 3 @wa eao oy 87

[Question ID = 5302]

21 [Option ID = 21202]

20 [Option ID = 21203]

19 [Option ID = 21204]

18 [Option ID = 21205]

o kPt —

Correct Answer :-
e 19 [Option ID = 21204]

66) In a coded language, COULD is written as BNTKC. In the same coding style, how will MOULDING be written?

ues @is vmar 31, COULD @1 BNTKC @ wa 31 ferar sen & 320t @ifSer dicht &, MOLDING =1 @31 ferear smosm?
[Question ID = 5303]
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NITKHCMF [Option ID = 21206]
CHMFINTK [Option ID = 21207]
LNTKCHMF [Option ID = 21208]
LNKTCHMF [Option ID = 21209]

o bt Bt —

Correct Answer :-

e LNTKCHMF [Option ID = 21208]

67) Joy, Grace, Stephen and Miller are playing cards. Joy and Grace are partners. Miller faces towards North. If Joy faces
towards West, then who faces towards South?

sifer, o)A, éwol iz firere aver War 2 & Sif aiiz 9w wElor & Rier o 3za 3w &6 e 2 Al sifa o1 gea aon & oeiz 8, ar ofdon & e
et 7z &7

[Question ID = 5304]

1. Grace / 3 [Option 1D = 21210]

2. Stephen / ¥wa [Option ID = 21211]

3. Joy / sifer [Option ID = 21212]

4. Miller / fiier [Option ID = 21213]

Correct Answer :-

e Stephen / e [Option ID = 21211]

68) Anu walks 4 km towards west, then turns to her right to travel 9 km. She turns towards east and travels 12 km. Finally,
she travels 3 km towards south. What is the minimum distance between the starting point and the end point (in km)?

3rg], ufliar &1 317 4 fesalt aercdl 8, bz 9 Rpdlt &1 ang o1 & e raot erf 3 #3 sl 3 ag gd & 3Nz #3dl 2 3iiz 12 Roall & oy oxd 2
sial #, a <fdon &1 3z 3 Rl &1 aren @t 8 angpad yrfias vd sifes Rig (Roolt 3) @ da sgeras ¢ft awn 87

[Question ID = 5305]

1. 18 [Option ID = 21214]

2. 10 [Option ID = 21215]

3. 12 [Option ID = 21216]

4. 14 [Option ID = 21217]

Correct Answer :-
e 10 [Option ID = 21215]

69) Choose the correct option to complete the number series 196 : 256 :: 324 :

FIERII QEICIl I Y21 ol @ fere 18 fawea goi 196: 256 :: 324:
[Question ID = 5306]

1. 400 [Option ID = 21218]

2. 484 [Option ID = 21219]

3. 361 [Option ID = 21220]

4. 441 [Option ID = 21221]

Correct Answer :-
e 400 [Option ID = 21218]

70) If Monday fell on 20t March, 1995, what was the day on 379 November, 19897

afe 20 arcd, 1995 ot Awa: an, at 3 sidaz, 1989 @1 wia a1 Gar an?

[Question ID = 5307]

1. Thursday / sp=arz [Option 1D = 21222]
2. Sunday / 3f@arz [Option 1D = 21223]
3. Friday / grmarz [Option 1D = 21224]

4. Saturday / wférms [Option ID = 21225]

Correct Answer :-

e Friday / grar [Option [D = 21224]

71) Among the following propositions, two are related in such a way that they cannot both be true but can both be false.
Select the code that state those two propositions.

forrstferf¥ae graraen 3 A, 31 zA awe A Hdidia 2 5 d ol Aca ordl 81 wasa 8 aftvar el sca 8l Awd 8 3| ©Is @1 ool DI Sl Jal ol
gIIaar3il a1 TR @i

i. Every student is attentive. / &2 o1 dion &

ii. Some students are attentive. / ®o o dioHa &

iii. Students are never attentive. / g a»i dicww oiél 8
iv. Some students are not attentive / @wm wiq diwa adt &
[Question ID = 5308]
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Only i and ii / @feer i 3fts ii [Option 1D = 21226]
Only i and iii / &beer i afiz iii [Option 1D = 21227]
Only ii and iii / et ii 3tz iii [Option ID = 21228]
Only iii and iv / @t iii sfts iv [Option ID = 21229]

P s

Correct Answer :-
e Only i and iii / @aer i 3ftz iii [Option ID = 21227]

72) At what time between 3 and 4 O’clock will the hands of a watch point in opposite directions?

3 31 4 st @ dla oz a3t @ cleil g fauda fGenai # Gzars Saii?

[Question ID = 5309]

1. 40 minutes past three / dim asmas 40 fiee [Option ID = 21230]
2. 45 minutes past three / sl aer@ez 45 e [Option 1D = 21231]
3. 50 minutes past three / da asrss 50 fere [Option ID = 21232]
4. 55 minutes past three / dia @ersz 55 fiee [Option ID = 21233]

Correct Answer :-

® 50 minutes past three / dia sz 50 fee [Option 1D = 21232]

73) Amyra is a student journalist who has spent weeks gathering information on changes in school admissions. She has
interview transcripts of teachers, students, government officials and data on admission procedures. Which of the following
steps is the most important for her to take first in organising and synthesising the information for the story?

IARRI U B UgPR &, fRTel @ yal A aceld @ an A Sleldhl $mFl @l A @3 AH1E faan. sud uri PDigmwl, s, Irorl aftify
@ Fiefiead12 3z yaor yfpzmail @1 3e1 8 el @& R siererdl @ wafiea iz d@afa o i 3ad R GeeftBaa i 3 oter a1 oen @

HAscaygui &7

[Question ID = 5310]
1. Evaluate the credibility of information received. / ym Sieert & Rreasstiear @ Jraoa

[Option ID = 21234]
2. Choosing the most impactful quotes to make her story complete / wastt @t yuf gomret o e smafffes gemasndh asesr a1 goma|

[Option ID = 21235]
3. Summarising her findings and submitting it to the editor for earlier approval. / el orepat ® wEildA @ iz 23 gd sopilco © fW AU ®f Y ol

[Option ID = 21236]
4, Decide on the story’s focus and its primary points to be put across to the readers and then create an outline to support those points / mamlt o miaox
itz 3 wpertinn [gail o uroot oo udars an Bt den iz [ 30 Mgal o ameda asa @ e oas sudam o femtor aszen |

[Option ID = 21237]

Correct Answer :-
e Decide on the story’s focus and its primary points to be put across to the readers and then create an outline to support those points / warmsit @ waa
3z 33 yrerfd Rigsil ol uow! aw udarel 1 ok den siiz b 361 Figall @ swels el @ fw vw Fudam @ Beior e |

[Option ID = 21237]
74) You are a class teacher. Some parents who missed the last Parents-Teachers Meeting come by your office and request
you to brief them about their children’s progress. You already have a prior school management committee meeting
scheduled. You will -

U UH DHEI HEATUD & ®p An- e 31t Kol sinar- Riar-1digre o ol am 1@ €, d amuds oriicoRr 3 e E aiiz amael 3o acdl &t ypifia
@ an 3 Sietard So1 @1 oter @I & sy yd-forerifya femerr gaeer wfhfer & §ow 3 st & | ang -

[Question ID = 5311]

Ask them to come some other day / 3a2 @52l gnd f&at amal @ e @wést  [Option ID = 21238]

Brief them immediately / 35& am &t 2ifdm smaadt 283t [Option ID = 21239]

Tell them to come for the next PTM / 358 s didtos & amat @ o @d  [Option ID = 21240]

Ask them to wait for you while you finish your meeting. / 3a& #itfdsr 2 giat e yreften @eal @ fée adatr [Option ID = 21241]

B

Correct Answer :-
e Ask them to wait for you while you finish your meeting. / 35 sftidsr s &1 ev yeflen war @ fém ada1 [Option ID = 21241]

75) Your classmate confided that he has been having thoughts of harming himself. He does not have a good relationship
with his parents and has forbidden you to tell them about his thoughts. Your school has no counsellors to confide in. You -

HUD HBUIST of iR 6 a6 g @I ofdHlel Ugdlol @ 12 3 Fld 61 8 IAD Aol AlI-I0ren @ 1 e Hde ofal & 3ol 30l AMUD] Aol Iod
uel frart @ ary af aarel 3 aen e 8 suad Fooa 3 sudl wEufier & oo ®1f odaaz odl 8 g -
[Question ID = 5312]

1. Agree not to tell his parents as he may get offended / ama 331 #ren-fiem @t st aa a=iifds 331 gor e@r aoen & [Option ID = 21242]

2. Agree not to tell his parents but tell them without his knowledge / 3o awn-fiem @ o aamt @ 321 3 ) s aREe @ aags 3960 AnT-fir @ aon 291 [Option
ID = 21243]

3. Tell his parents but apologise to your friend for having done so / 33 smn-fim @t acmd Sfdor dan avser o P amet fing 3 sen wsist [Option 1D = 21244)]

4, Don’t do anything. Your friend may be faking it / amu qw #ft sl @da e smers &t wdl amuet By s e & o a8 &8, 1 e #l s [Option ID =
21245]
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Correct Answer :-
e Tell his parents but apologise to your friend for having done so / 335 sre-Rer @81 aand aifdsor ban assol & féne argor ey 31 e #9181 [Option 1D = 21244)

76) A student from Russia took a mid-year admission in your school and he joined your class in 6th standard. You saw some
of your classmates talking and making fun of his language. Seeing this you -

%21 @ U Bl ol AUD Fapel A ad @ #ea A 88l wgn A eif¥aecn foren anuel araol @w Jewldl @l 33d arvd Aueil sirar A ard @ i
3P AIID IS ¢l 32 CFH2 AU -

[Question ID = 5313]

1. Confronted your classmates / amal zawfded 31 4231 w¥ar [Option 1D = 21246]

2. Kept quiet as your classmates will bully you too / & smerns qu 383 & asdl amuad srsurdt amuast ot #sie o 3sa a@1 [Option 1D = 21247]

3. Informed your teacher / amal g o fder awdar [Option ID = 21248]
4. Informed your parents / am@r sien-fer @1 fem ¥ [Option ID = 21249]

Correct Answer :-
e [nformed your teacher / sl g @1 Ffaa w381 [Option ID = 21248]

77) You are the class representative of your batch. You got to hear from your friends that they are planning to go on a
strike to demand lesser workload. You will -

3ima argol da @ wan yferforfar  amuas sraor Sil A ool @1 fren s § oA @ &5 @1 asa a5l @ e ssarer uz Sirel &t Avston gon 23 &

m -

[Question ID = 5314]

1. Be part of the strike as you are also an important stakeholder / &somer a1 f&sen adial aeiifds amu sft v srgeayel sl & [Option 1D = 21250]

2. Don’t do anything as you do not agree with the strike in principle but also do not want to be on the wrong side of your classmates / g #ft o @3 aeifi
amg Fgiferes =u A a3 Hesn oiEl 8, afie auel Hewidel o srewt ust o off mwels sl [Option 1D = 21251]

3. Inform your teachers / amsr Bigrest @01 3faa @381 [Option 1D = 21252]

4. Take up the role of mediating between the students and teachers / @il afts st & dia seerzeran 61 afdest omds [Option ID = 21253]

Correct Answer :-
® |nform your teachers / amel Bigmee! @1 gt w3 [Option 1D = 21252]

78) Which of the following is not a monocular cue?

forgsiferiian 3 31 ®iel v vooIlidw a3 o1l &7

[Question ID = 5315]

1. Interposition / guas [Option ID = 21254]

2. Aerial perspective / of¥rer efteamion [Option 1D = 21255]
3. Lights and shadows / Jigmil 3tz wren [Option 1D = 21256]
4, Convergence / @oasta [Option ID = 21257]

Correct Answer :-
e Lights and shadows / gl afiz @ren [Option 1D = 21256]

79) Which of the following statement is not an element of Theory of Needs?

foraiferf3an af 21 @iar 211 werer et 3iiG siiga @1 ava ol 87

[Question ID = 5316]

1. Human beings are motivated by a hierarchy of needs / e el @ uaeas 3 Of¥a &kn & [Option ID = 21258]

2. One can also move to a higher level of need without satisfying a lower order need / foraet am & amagerasnaii @1 g1 e fden siffp amseaam @ 3ca xR W
sft am e & [Option ID = 21259]

3. Once a need is satisfied, it does not motivate / sz gft & el w ag Uf¥a odl ezt 8 [Option 1D = 21260]

4. As one need is satisfied, another replaces it / 513} ves sr=sa gt arfl &, a cxdl s gset sene A ot & [Option ID = 21261]

Correct Answer :-
* One can also move to a higher level of need without satisfying a lower order need / Brae! a1 aragerasanaii @1 g1 fpu fFen @lfs amoeasar & Jca w12 02
aft 5n sesen & [Option 1D = 21259]

80) Which of the following is not a developmental disorder?

forgaiferiae 31 21 ®lor 71 v RipRTrA® kiR odl 27

[Question ID = 5317]

Asperger Syndrome / vaustz fssia [Option 1D = 21262]

Intellectual Disabilities / aifia Reserisr [Option 1D = 21263]
Generalized Anxiety Disorder / smsreeftasa Ricn faesrz [Option 1D = 21264]

Dysgraphia / Zsepiten [Option ID = 21265]

B Y

Correct Answer :-
® Generalized Anxiety Disorder / ssreeitaz ien f&esrz [Option ID = 21264)

81) Which of the following is not a characteristic of a psychological test?
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forFarfeiliaa 3 A wior sefdsniore uftgon & Rdraar oiét 8?7

[Question ID = 5318]

1. Test must assess total behaviour / 2ve @1 g1 =@aR @ Ao @zl @iz [Option 1D = 21266]
2. Test must be reliable / 3¢ Rrasmit &on aifae [Option ID = 21267]

3. Test must be valid / ¢3¢ no= glon arize [Option ID = 21268]

4, Test must have norms / 23 # #mes e aifge [Option 1D = 21269]

Correct Answer :-
e Test must assess total behaviour / 23¢ @t @l @rER ©1 Aol won aifae [Option ID = 21266]

82) Consider the following statements about coronavirus
Statement I: The COVID - 19 was first reported from Wuhan, China
Statement II: The virus is genetically related to the coronavirus responsible for the SARS outbreak of 2003

In light of the above statements, choose the most appropriate answer from the options given below

DRIGIARRI © anr 3 orofdilRaa oeusl uz ar o
i. COVID - 19 @1 usdl geret, e 21 Paid een s e
ii. arEA aEEide Fa 2 2003 @ vavareA yoiu @ e Biicr oRislarrza A Hditna 8

[Question ID = 5320]
1. Only | is correct / ebaet 1 21t &

[Option ID = 21274]
2. Only Il is correct / obaer ii =t 8

[Option ID = 21275]
3. Both statement | and |l are correct / i afiz i1 ol 708 &

[Option ID = 21276]
4. Meither statement | nor Il is correct / & & i afflz & & ii =8t &

[Option ID = 21277]

Correct Answer :-
@ Both statement | and |l are correct / i 3fiz i =l 7 &

[Option ID = 21276]

83) Which of the following sportsperson is incorrectly matched with his/her sporting event?

forgoiferRae af 2 fora1 Raensl & swa Wa & AT stera adle A femrn sren 87

[Question ID = 5321]

1. Kobe Bryant - Basketball / @ qrie - areadedia [Option 1D = 21278]
2. Leander Paes - Tennis / fénssz @ - 2farar [Option ID = 21279]

3. Sofia Kenin - Badminton / siftven a@forer - dstiicar [Option 1D = 21280]
4, Rory Mcllroy - Golf / 38 fieserifa - sitew [Option 1D = 21281]

Correct Answer :-
# Sofia Kenin - Badminton [/ sftfiven obforer - dsfiesr [Option 1D = 21280]

84) Which of the following statement is not true with regard to the Dadasaheb Phalke Awards?

IG1 AIEd BIcad YRl o A« i Recifeaa 3 2 oia a1 werer w8l odf 87

[Question ID = 5322]
1. It is the second highest award given to recognise the contributions of film personalities towards the development of Indian Cinema / =12 smeriier Biam
o frprar @ gfey fiveslt afdvel @ wieem o A 29 © Br e e o g@e adtoa greor &

[Option ID = 21282)]
2. The recipient is awarded with ‘Golden Lotus Award.’ / yraesal a5t “Favl aseer srared gray swanfor fsen swen 2

[Option ID = 21283]
3. It was awarded to Amitabh Bachchan for the year 2018 / 2018 @ fém sifdrcmsr acast @ 33 R A FmicrT [y srn

[Option ID = 21284]
4. The first recipient of this award was Devika Rani / s qaoas & ueel o Sfaesr aeit of

[Option ID = 21285]

Correct Answer :-

® |t is the second highest award given to recognise the contributions of film personalities towards the development of Indian Cinema / @i swsiter Bt
b fereprar o yfer et afdorl o eerara o sseren Sa1 o fére f&an Gt aren giar adten yrawn &

[Option ID = 21282]
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85) Which of the following services was engineered by George Laurer?

sifel ciizz of forgatfei¥aa 3 21 wial 1l Jran @1 forerivr Ream en?

[Question ID = 5323]

1. Universal Product Code / #fsiasic 3cure @ts [Option ID = 21286]

2. Magnetic Ink Character Recognition Code / gadbter sendl at¥ sseren ats [Option 1D = 21287]
3. Scanners / ol [Option ID = 21288

4. Solar Technology / iz gienfarsi [Option ID = 21289]

Correct Answer :-
e Universal Product Code / gférasfer scuie @st= [Option ID = 21286]

86) The first Chief of Defence Staff (CDS), India is -

M @I Usen diw 3w Bwa e (CDS), 2 -

[Question ID = 5324]

1. General Manoj Mukund Naravane / swise #eital 3jige orzaml [Option 1D = 21290]
2. General Bipin Rawat / swa ffter 2wt [Option 1D = 21291]

3. Admiral Karambir Singh / esfize asadts Bis [Option 1D = 21292]

4. Rakesh Kumar Singh Bhadauria / s qgane Big ssiiden [Option 1D = 21293]

Correct Answer :-
e General Bipin Rawat / srerzer fafter sraa [Option 1D = 21291]

87) Bharatvaani, an online portal launched by Union Ministry of Human Resource Development is -

¢ aera Haerel R Jiqrer o1 913 e srn v siferensar Uider “wrzaanil” 2 -

[Question ID = 5325]
1. A digital audio broadcast for All India Radio / sifer sf¥en 3=t @ féw v Bfsea it g

[Option ID = 21294]
2. An online music learning Platform for remote areas / gzzer gl 3 2801 arell @ fem vep siforensel Feila tws @1 #a

[Option ID = 21295]
3. A multilingual knowledge portal / v agmrdt smer dde

[Option ID = 21296]
4. A digital repository of history of India / sma @ sfiem @ o Bie sise

[Option ID = 21297]

Correct Answer :-

e A multilingual knowledge portal / was agmmrdt s dider
[Option ID = 21296]

88) Samsung recently launched ‘Neon’, which is -

ANzIoT1 of el 81 9 'foriiol’ @I cifoa fpem &, o 3 -

[Question ID = 5326]
1. A cloud computing technology / aen3s wwgfder iepsti

[Option ID = 21298]
2. A portable super computer / v dieel U3 BRI

[Option ID = 21299]
3. An Al-powered virtual being that looks and behaves like human beings. / was Al- gen adarer seemat ot somal o os f&aen & 3 craar o &

[Option ID = 21300]
4. A virtual assistant for Samsung refrigerator / Jie dleRe: @ 0 0w el Aerrs

[Option ID = 21301]

Correct Answer :-
e An Al-powered virtual being that looks and behaves like human beings. / ues Al- 2eh adarer so3na Sl 36 &1 s & 8 i waar e &

[Option ID = 21300]

89) Which cricket stadium hosted India’s first pink ball day-and-night test match against Bangladesh?

diocTic9l 3z WA @ faa usen afcnEl sic 3-oise ¢3¢ fid v Rpade w*fSww & won srn?
[Question ID = 5327]
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Eden Gardens, Kolkata / 4=ot amdar, aterasren [Option 1D = 21302]

Wankhede Stadium, Mumbai / @ers2 w2f3em, @ [Option ID = 21303)]

Feroz Shah Kotla, New Delhi / fisara ong @ieen, o &ectt [Option 1D = 21304

. M. Chinnaswamy Stadium, Bangalore / wi. Reonzanit FefZem, dswe [Option 1D = 21305]

P s

Correct Answer :-
® Eden Gardens, Kolkata / 4=& sngat, @iemsnn [Option 1D = 21302]

90) The first Khelo India University Games, 2020 was held at -

uscl el 33 gloral3 & stear, 2020 amenfora fsen s -

[Question ID = 5328]
1. Aizawl, Mizoram / amsaiter, Brsiten

[Option ID = 21306]
2. Cuttack, Odisha / e, sitfSon

[Option ID = 21307]
3. Nagpur, Maharashtra / sienjz, #ammg

[Option ID = 21308]
4, New Delhi, India / = feeett, sme

[Option ID = 21309]

Correct Answer :-
e Cuttack, Odisha / @ews, afaen
[Option ID = 21307]

91) After the scrapping of Article 370, how many Union Territories are there in India now?

et 370 @ e dlol @ 46, 3G M 3 AmE @ oo ag enfa yger 87

[Question ID = 5329]
1. 7 [Option ID = 21310]
2. 8 [Option ID = 21311]
3. 9 [Option ID = 21312]
4. 10 [Option ID = 21313]

Correct Answer :-
e 3 [Option ID = 21311]

92) The year 2020 has been declared by the World Health Organisation as the year of -

faa Faresr o100 orT ad 2020 ot o ad @ wa # aifta foen sen 8 7

[Question ID = 5330]
1. Universal Health Coverage: everyone, everywhere / yférasier &ce asadal: & @, & SFE

[Option ID = 21314]
2. Nurses and Midwife / it afiz ard
[Option ID = 21315]
3. Visionary Women: Champions of Peace and Nonviolence / gaolf sifgem: onfer afiz aifdsn & diters

[Option ID = 21316]
4. None of these / sowt 31 o it onl

[Option ID = 21317]

Correct Answer :-
® Nurses and Midwife / orsl iz o
[Option ID = 21315]

93) By stating that “section 144 cannot be used to prevent exercise of democratic rights”, the Supreme Court of India is
trying to protect the -

e e gv b “amer 144 @1 Jusilel diddifem AeRI @& YRIPT ®I Adbal @ o ol e s wean 27, siea @1 Jdlca carncerel Rea sfirer

&1 28 @Io1 &1 wifdrer as3 a1 & -

[Question ID = 5331]

Right to vote / wm &t @1 aiffeere [Option 1D = 21318]

Right to protest / &t st w1 aftror [Option 1D = 21319]

Right to equality / s an aiffro [Option ID = 21320]

Right to constitutional remedy / fenfery 3uard @t affro [Option 1D = 21321]

B L L

Correct Answer :-
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® Right to protest / R @2 1 aiféiesz [Option ID = 21319]

94) Indian Railways launched the first ‘Fruit Train’ in January 2020. This train will transit between -

aireciler Yerd o siora®t 2020 3 useh “wcda” ops B us Lol & & 3 aaeh?

[Question ID = 5332]

1. Anantpur in Andhra Pradesh and Mumbai’'s Jawaharlal Nehru Port. / anie yger @1 smimyez i fad @ smased siss i [Option 1D = 21322]
2. Nagpur Railway Station to New Delhi Railway Station / ameiy2 e 3291 3 off f&eefl 3@ 321 [Option ID = 21323]

3. Kulu in Himachal Pradesh to New Delhi Railway Station / Ramaer yoor & qeer 3 o f&eefl 361d 22oret aiep [Option 1D = 21324]

4. New Delhi Railway Station to Mundra Port in Gujarat / o f&eelt 36 3gror 31 apsrent # g Ul cep [Option ID = 21325]

Correct Answer :-
e Anantpur in Andhra Pradesh and Mumbai's Jawaharlal Nehru Port. / aiigf q@er @ amicrgz afiz #jag a5 srrssene ofgs did [Option ID = 21322]

95) 2019 Nobel prize for Economic Sciences was awarded to -

2019 snef et @ 1o silde yzeasiz A Asaisr o srn -

[Question ID = 5333]

1. Abhijit Banerjee, Esther Duflo and Michael Kremer / aifirstter dorsif, voee guel aiie smswer @ arz[Option 1D = 21326]
2. Abhijit Banerjee, Esther Duflo and Paul Krugman / siférsiter dorsif, veee gual aite dier ayasrdaOption 1D = 21327]

3. Abhijit Banerjee, Esther Duflo and Jim Peebles / afirstter aorsfl, vrers suelt aiie B dlaex [Option 1D = 21328]

4, Abhijit Banerjee, Paul Romer and William Nordhaus / afirstier aerait, dier 3w sy @féem sitda [Option 1D = 21329]

Correct Answer :-
e Abhijit Banerjee, Esther Duflo and Michael Kremer / afdisiter orsit, vads guel afie smsaser as #rz[Option 1D = 21326])

96) Which of the following is/are true about the movie ‘Parasite’?’
I. It is the first non-english movie to win Oscar for best picture

1I. It won 4 Oscars in the 92™ Academy Awards 2020/

III. It's a chinese movie

Choose the correct answer from the options given below:

fibear "Gerense’ @ an 3 forsarfciiiaa & A wia 31 weet I 3/87

i. @Iz wdoeo szl Biaz fibea @ ferg sifzwe sitaol arcil uscil 3iz-3iE)si fisca &
ii. 33101 92 4 srwredt grror 2020 # s« afts sifzas sfia

iii. =& <ilell sirar o aofl fibear &

[Question ID = 5334]
1. only | / e i

[Option ID = 21330]
2. onlyland Il / @ae i afim i

[Option ID = 21331]
3. only | and Il / e i iz dii

[Option ID = 21332]
4, 1, land Il / i, ii ahe ii

[Option ID = 21333]
Correct Answer :-
e only | and Il / e i afte i

[Option ID = 21331]

97) Match the following lakes with their basic features and choose the correct option

forzotferiiaa sitcil @i Jordbt Fer faoraeansit 3 fdeme siiz 7t fevcu gei

List | IList 11
A, Loktak Lake |l Longest lake in India
B. Chilika Lake |

II. Brackish water lagoon

C. Vembanad Lakei_III.Lake of flowers

[ o SR TRt PR RRe RS RS !I'ln’ | ool ERSRR, SRRV ~ T R T RIS Rl R B
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U.\adsar Lake IV, HOaUNg INaoNal Kark
List | List I

A THaD Fidt | HRT # TaH el Gl
B. fferemT St | WU &HTHRH

c. FEES Fie N NIEIEIN]

D. %R el v RIS H =1 UTeh

[Question ID = 11221]
1. A-1ll,B-1l,C-1, D-IV[Option ID = 44878]
I, D - Il [Option ID = 44879]
3. A-1,B-1l,C-ll,D- IV [Option ID = 44880]
4. A-1Il,B-1V,C-1,D -l [Option ID = 44881]

2. A-IV,B-1I, C-

Correct Answer :-

o A-IV,B-Il,C-1,D-Ill [Option ID = 44879]

98) Match the following person with their party affiliation

forgotfcilBan cafepel @ Jor2l At goil 21 Breme

List |

List 1l

A M. N, Roy

|. Communist Party of India

B. W. C. Banerjee

Il. Swaraj Party

C. Motilal Nehru

IIl. Indian National Congress

List |

List Il

A TH, TF. 309

| YR HHEAR el

B. Sacg Il I

|1, ST TS

C. I eIl e

Il YR T B

[Question ID = 11222]
1. A-1,B-1ll, C - Il [Option ID = 44882]
2. A-1,B-1l, C- Il [Option ID = 44883]
3. A-1Il, B-1I, C - | [Option ID = 44884]
4, A-1Il,B-1,C- Il [Option ID = 44885]

Correct Answer :-

® A-1,B-lll, C- Il [Option ID = 44882]

List List 11
A, Perpetual peace l. Plato
B. Golden Mean Il. Kant
C. Analogy of the cave  |lIl. Aristotle
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Choose the correct answer from the options given below:

forsaifeiliaa crelforel @l sorad Rrari @1 wver Bieme @3 itz w8l Rosea got

|U. FOrtune as a worman ‘l"l.". MaCﬁlaVE!lll

List | List Il
A, GEHH Tl I el
B. Tlicg+ #H 1. i

C. TRTHTHEZGAT [l 3],

D. W& TUH 4y

V. AT

[Question ID = 11223]

1.

A-IIL,B-1L,C-L,LD-IV

[Option ID = 44886]
A-1,B-IV,C-1II,D-1I

[Option ID = 44887]
A-N,B-1,C-1V,D-I

[Option ID = 44888]
A= IV B G- 1 D=l

[Option ID = 44889]

Correct Answer ;-
e« A-Il,B-ULC-1,D-1IV

[Option ID = 44886]

100) Match the following brain structures with their basic functions

forraiteiRaa sif¥arees Fvaenail ®f 3o 3T oril A e rofilRaa faecal 3 21 gol

List | List Il

A, Parietal Lobe |I. Vision

B. Broca Area  |Il. Moverment coordination

C. Cerebrum  |[lll. Body sensations

D.Occipital Lobe|lV. Sp

eech production

Iusn List Il

A TReMuedee |LEf

IB. SHTERAT . 15aHe g9y

C. WEH I, TRR HdgAd
v, @ ITEA

lo.aﬂvmﬁﬁiwﬁa:ﬁl

[Question ID = 11224]

T:

A-1,B-1ll,C-1IV,D - Il [Option ID = 44890]

2. A-1Il,B-1V,C-Il,D-I[Option ID = 44891]
3. A-Il,B-1,C-Ill,D- IV [Option ID = 44892]
4. A-1V,B -1, C-1,D-lil [Option ID = 44893]
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Correct Answer :-
e A-IlI,B-1V,C-1l, D-1[Option ID = 44891]
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